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Matrices

Assignment 1.0
: 3 -4 :
1. Express the matrix A= i i as the sum of a symmetric and a skew
symmetric matrix. [C.B.S.E. 1998]
3

2. Express the matrix A= A J as the sum of a symmetric and a skew
symmetric matrix. = [C.B.S.E. 1998]

= ?‘3—‘\‘ if’g w"w,v;'fOT ‘v"‘\
3. For the matr_ijr"ﬁ =\ 4- 5 8 {Find_ —(J( = X’h’ where A'is the transpose
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IO !;and the ]th Jolumn are

A+B+C is a zero matnx e Ny NP : [A.ILC.B.S.E. 1999]
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10. Construct a 2 X 3 matrix whose ;iements in the ith row and the jth column are
given by a, =231 [A.LC.B.S.E. 1999]
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1 3 2 1
11.1If A=|2 1], B=|1
3 -1 -1 0

matrix.

given by a; = x| .
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the transpose of A.

13.1f f(x)=x>—4x+1,find f(A) when A=

14.TF £(x) =23 ~2x 3x"ﬁmjlr” ?Z)”When

15. If ff(")’Lxﬁf 5x+ ﬂf’n’éﬂ f(A) whq A=

f }} ‘1 {l ‘w , ““L:r;

‘~1‘é F1nd]a md@ﬂ% X s\agh tﬁat JZJA L3 B - Xf’ = 9, “where A%é di’ﬂ' ) }'
P4 A f
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Matrices

2 |, Find the matrix C such that A+B+C is a zero

[A.LC.B.S.E. 1999]

12. Construct a 2 X 3 matrix whose elements in the ith row and the jth column are

[A.LC.B.S.E. 1999]

3
2] [A.LC.B.S.E. 1999]
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A ALC. B. SE. ](2000]
,'f; =

3
5} prove that A-A is a skew symmetric matrix where A” denotes

[A.LC.B.S.E. 2000]
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Matrices

1 4 : .
22.1f A:{3 7}, show that A-A is a skew symmetric matrix where A is the

transpose of matrix A. [C.B.S.E. 2001]
[4 1 . ;
23.If A= 5 8] show that A + A is a skew symmetric matrix where A is the
transpose of matrix A. [C.B.S.E. 2001]
3 4 : ;
24.1f A= 5 J, show that A - A is a skew symmetric matrix where A is the
transpose of matrix A. [ALC.B.S.E. 2001]
_3 - . A, ,w“:!T“%, ,,,——w_
25.If A= 1, sl;tf?w?‘h# A -'A)is a'ske }mmetnc matrix where A is the
1 pragel ——— ‘
transpose;,o‘htiatmﬁ"rv ; “'": 1 _‘\L[A .LC.B.S.E. 2001]
> ;
6)° SPW that (A sy

eﬁfy t‘hiat (AB)'L BA [é SE. 2002]
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31. Const[pué&a 3X 2 matrlx A, whose elements are given by’

h Sy a
=R S
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32. From the fohowm‘g%qyaﬂonsﬁ&iﬁe Lf bLes of fx gnd’ y: )
x5 “3'&_ 4 e—— . [~
2 s | [C B.S.E. (Comptt.)2002]
7 15 o M
3
33.1f A :L 2} find K such that A> = KA—21,. [C.B.S.E. 2003]
. 2 3l x 1
34. Solve for x and y, given that q i = "t [C.B.S.E.(Comptt.) 2003]
y
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Matrices

X 1 3
35. Solve for x and y, given that Y = s [C.B.S.E.(Comptt.) 2003]
3y x||2 <]
) . ) 4 2| a —4
36. Find the values of a and b for which the following holds 3 s = 5"
3 -
37.1f A :{ i 2}, show that A> —5A—141=0. [C.B.S.E. 2004]
CosA sinA cosnA sin nA
38.If X =| ,then prove that X" =| :neN.
-sinA COsA -sin nA cos nA
3 4
39.If A= N 3‘—[ fmd,?t‘_(A,)r*Whgpe'T(‘x) —%r_\‘ 5x+7.[C.B.S.E.(Comptt.) 2004]
- M N
1 o N ——
40.If A= ér""“J k},}m f(A); wherq &)= —M31![C§ S.E.(Comptt.) 2004]
N - U
r”%‘f’f ‘i{i L r:d

\ 4

W
== ltl - [l
s;j;-‘,pmye*that e 4A2+A B

re f(x)= qm;, [C. B"SE( ptt.) 2004]
"V \ ?eji \bﬁl

[Ca{ﬁ SIE. 2005]
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48. Solve for x and y A =y
ik 2]
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o
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[C.B.S.E.(Comptt.) 2006]
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Matrices

50. Express the following matrix as sum of a symmetric and a skew symmetric matrix :

1 3 5
-6 8 3. [C.B.S.E.2006; A.I.C.B.S.E.2006]
-4 6 5
3 4| )
51.If A :{ q 2} , find a matrix B such that AB = L. [C.B.S.E.2006]
1 2 . 2
52.If A= 4 e find the value of A +2A+71.
[C.B.S.E.(Foreign)2006] =
e ;V{ |
53. Show that the Wl ji‘ | satis —f: s‘h;eeqq‘atlon A*-5A+71=0.
zfﬂJ - “";"—;:;»-»:_ 1'!'_‘\
54.1f A= - L—_[C.B.S.E.2007
i
i‘; N r?‘—""ﬁ.-

V“

Express A as sum of ‘(‘WO matrlce,s' gachxt}hai\‘ne is
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Usmg el@mentary transformaﬁ@n fg,d“th'e inverse of the f0116w1ng IﬁF\tI’lX :
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Note : if any mistake on this Kindly inform on the mail id : bknal1207 @gmail.com
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